
Questions from second progress report presentation:

1. You mentioned computing challenges as a potential roadblock.  Are you expecting to receive any computing resources from your client for this project, or are there other computing solutions you’re pursuing?

2. You mentioned nodes per link as one of your measures, but I’m not quite sure what that is.

3. The plots of % reach were very interesting, as was the discussion of possible ways to normalize it for a country’s population or land area.  It would also be interesting to compare this graph for countries in Africa with a similar graph for countries on one or more other continents.

